EARAROBEEIERT — 2 N— IBISH —F

20185128250 (X) 10EI#EFI2H

m"fﬁ%Zﬁ = 111 HFLE245FKH ‘ [®1g] w5 ‘ [BERE] - | 4 (K) 14000 B
[A&4£] 17 1,400,000 @ 2 3 :490,000 . 33 :280,000  ~ 4 3#&:210,000 @ . 5 7 :140,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . Tgxs .31, _0_o_ . — FOF (GEM)
N - 2= 4 2 a0 1(3_1)2 2-2-2-1 | 40.0 5 (4_158) £,
RBALINT Ry IR B4 TI—14 B’ J77—L
c e s 2 | FEY 1:31.5 5-4-4-2 | 40.0 | — 3 459 | KEFESE (AAN)
2 1 EF K= . 54.0 (1 1/2) G7) | FRMEER ()
L—2)P R B:EFET> KT 7 — L
N . . & . _a_n_ _ ERR ()
3 &N 3 A=Y 4 % 2 54.0}iL ; (11'31]/'28) 335 403 1 (5_04(‘; :[L;;Ei
L.Eh=0 BT HoJRA
. s 2 | FHEFA 1:32.0 4-5-5-6 |40.4| — 2 480 | =EH (KH)
alz7l 7| b—EI=D> 55.0 (1 1/2) (-13) %HI[&X%};
L:TANNTTFY— B b—t>a12F 7 BREMt IXT7177—4
; o2 | DNEEANIE 1:32.0 7-6-7-4 | 40.1| — 7 421 | AR GE)
EE o | Z1t&—d— 55.0 (742%) (1) | KtEFIE
LH I NT—K B R TR BR
S S o TRTTHERR :32. ~7-6- . — ERR GEF)
6/5|5 Jagvagy 2 55?8 1(13/22)1 A R : (:?g) :ﬁ/#iﬁﬂl
LN—=F4N=F 1 B:HI T1H—4 BER BB
N s Riiths : -1-1- - FFOF (GE)
7 4| E1F3I v RIL— it 2 o 1.(332).7 1-1-1-3 | 41.7 4 (4_068) B
Z:A—KFRNUFZX B:L—TJKRT7IMLZR R 77—-L4
® I —F—EBIERL
13=7r= 4,6,3,7,1,5,2
A== 4,6,3,1,7,2,5
Jol=5r= 4,6,3,1,7,5,2
40—+ — 6,1,4,2,3,7,5
[ N3
H OB 6 2,300/ 714K 1-6 700M B = 1-6 4,080 3EHE 1-3-6 830M
8 B 6 610M 3-6 170H B H 6-1 7,310M K31 6-1-3 15,7504
1 350M 1-3 170

ABICOVWTRDTEEERROODE. TR LIV,



